	Prénom : …………………………
	Date : ……………………………………………………
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	1 – 0,9 = ………
2 – 0,99 = ………
5 – 0,999 = ………
	10 – 0,9 = ………
30 – 0,99 = ………
70 – 0,999 = ………
	15 – 0,1 = ………
45 – 0,01 = ………
85 – 0,001 = ………


1./ Calcule et complète :

	4 – 0,9 = 3,1
	18 – 0,9 = ………
	54 – 0,9 = ………
	321 – 0,9 = ………

	
	
	
	

	5 – ……… = 4,3
	23 – ……… = 20,1
	40 – ……… = 19,5
	65 – ……… = 15,8

	
	
	
	

	……… – 0,6 = 9,4
	……… – 0,2 = 10,8
	……… – 4,5 = 25,5
	……… – 9,9 = 50,1

	
	
	
	

	8 – 0,35 = ………
	35 – 0,85 = ………
	90 – 10,25 = ………
	370 – 40,55 = …………

	
	
	
	

	7 – ……… = 6,25
	17 – ………… = 0,75
	85 – ……… = 80,51
	620 – ………… = 600,84

	
	
	
	

	………… – 0,17 = 7,83
	………… – 1,65 = 58,35
	………… – 2,95 = 94,05
	………… – 2,57 = 25,43


2./ Pose en colonnes et calcule :

	48,59 – 37,18 = ……………
	873,5 – 14,7 = ……………
	687,27 – 89,8 = ……………

	
	
	
	
	
	


	208,09 – 92,5 = ……………
	4,07 – 0,78 = ……………
	367,26 – 259,19 = ……………

	
	
	
	
	
	


	28,647 – 18,95 = ……………
	4,783 – 3,806 = ……………
	584,2 – 60,453 = ……………

	
	
	
	
	
	


3./ Complète :

	4 . , 8

–   2 3, ..
.  8, 7 
	
	. 5 . , 4

–    2 7, ..
2 . 5, 2
	
	8 .  3, 0 3

–   2 4 . , 8 ..
.  9 7, .  9
	
	4, 5 4 ..
–   . , 8 .  7

3, .  8 9
	


